Algebra 2 Transformations Review
HW #6: SHOW ALL WORK on the worksheet.

Let f(x) = —2x2 — 10,p(x) = |x — 2| + 5,and m(x) = x3 + 6x + 1. Evaluate the following:
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Determine if the relation represents a function. Explain your reasoning. - L\L'éal.S

5. {(—3,5),(2,-6),(0,5),(2,4)} 6. _
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For each function below, state the parent function, describe the transformations then graph the function.

9. f(x) =2x*+1 10. g(x) = —|x + 4|
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Algebra 2 Transformations Review

11. h(x) =%x3 ~3 12.f(x) = =2Vx — 3 + 2
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Write the equation of the function:
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